NAME______________________

Calculating Bond Enthalpies (Hatom)

1. Using the bond energies listed in Table 8.4, calculate Hatom for the reaction of methane with chlorine and fluorine to give Freon-12 (CF2Cl2).

2. Consider the following reaction:
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Calculate the C – F bond energy given that C=C has a bond energy of 



614 kJ/mol, the C-H bonds have an energy of 413 kJ/mol, the F-F bond 


has an energy of 154 kJ/mol and the C-C bond has an energy of 

                  347 kJ/mol.

3. Using Table 8.4, determine the Hatom for the decomposition of hydrazine N2H2 (g)  

      to form nitrogen gas and hydrogen gas. 

4. Consider the following reaction: H2 (g) + O2 (g) -----------> H2O2 (g)using Table 8.4, determine Hatom for this reaction. (Note: In H2O2 , the structure is as follows H-O-O-H.)

